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—. 1. 60,200,350,270, 800,900, 12000,
15000, 2. 265,81, 3.600,480,124,146,
84,441,232,136,
“olx, 2.V, 3V,
=.1.C, 2.C, 3. A,
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=,>,<. 3.400, 4. /\,
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—. LM%, 2. 1341, 3.278x3=834,127x6=
762,

4. 2300, 1080,4500,763,1510,612,680,
1863,

2450, 5.304x4=1216,283x3=849, 6. [i%.
—.1.20,4,80,2.1,1,3. 1800, 4. 756 5.
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9. 9000,
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— . 1. 127x3=381,236x4=944, 2. 615x%
7,8x812,5%850,555x8, 3. 111111102,
1111111101, 4. 2955,1932,5124,2646,
5.72,288,576,2880,

. 1.>,>,=,<, 2.14,7,56, 3. 736,

4. 486, 5. (1) 642x8, (2) 468x2,

6. 714,952, 7.216, 8. 3409,
=.1.52,78,104,130,156,182,208,234,

2. 258,235,336, 3. o

M. 1.24907C, 2. RRE. 3. 0%, ISFI40%
4. 365K,
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— 1 X0 2. %0 3. %0 4. X0 5. %0 6.V 7.
Ve 8.V, 9.V, 10. V. 11. x, 12. V,
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=.1.6.2.4,/4,3.4,H,4.30,5.3, 6.
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M. 1. B, 2. ©;0DQ;DO®, 3.,
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